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1. 	Write the full name of the following : 	1x5=5 

(a) RCI 

(b) NIMH 

(c) IGNOU 

(d) MSJ and E 

(e) DPEP 

	

2. 	Write very short answers. 	 2x5=10 

(a) Define Mental Retardation. 

(b) Classify mental retardation on the basis of 

IQ. score. 
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(c) What do you mean by social skills ? 

(d) Enlist two characteristics of children with 

mild mental retardation. 

(e) Briefly explain what is prevention ? 

	

3. 	Write short notes on the following : 

(a) Medical model of rehabilitation 

(b) Integrated education 

(c) Barrier free environment 

(d) Adaptive behaviour 

(e) Dressing skills 

	

4. 	Answer any three questions. 

5x5=25 

3x10=30 

(a) Enlist the role of Rehabilitation Council of 

India. 

(b) What is reinforcement ? As a teacher what 

types of reinforcement will you use for 

children with mental retardation while 

teaching functional academic skills ? 

(c) Discuss the various early intervention 

models for children with mental retardation. 

(d) Briefly discuss about the need of special 

school. Also mention about the advantages 

and disadvantages of special school. 
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